SAMPLE QUESTION PAPER (2020-21)
ENGLISH - Language and Literature
CLASS-X (Rationalised syllabus)

Time allowed: 3 Hrs. Maximum Marks : 80

General Instructions:

1. This paper is divided into two parts: A and B. All questions are compulsory.

2. Separate instructions are given with each section and question, wherever necessary.
Read these instructions very carefully and follow them.

3. Do not exceed the prescribed word limit while answering the questions.

Part A (40 Marks)
READING (20 marks)

1. Read the passage given below.

The choices we make on a daily basis—wearing a seatbelt, lifting heavy objects correctly or
purposely staying out of any dangerous situation—can either ensure our safety or bring
about potentially harmful circumstances.

You and I need to make a decision that we are going to get our lives in order.
Exercising self-control, self-discipline and establishing boundaries and borders in our lives
are some of the most important things we can do. A life without discipline is one that’s
filled with carelessness.

We can think it’s kind of exciting to live life on the edge. We like the image of “Yeah! That’s
me! Living on the edge! Woo-hoo!” It's become a popular way to look at life. But if you see,
even highways have lines, which provide margins for our safety while we're driving. If we
go over one side, we'll go into the ditch. If we cross over the line in the middle, we could get
killed. And we like those lines because they help to keep us safe. Sometimes we don’t even
realize how lines help to keep us safe.

I'm not proud of this, but for the first 20 years of my life at work, I ignored my limits. I felt
horrible, physically, most of the time. I used to tell myself “I know I have limits and that I've
reached them, but I'm going to ignore them and see if or how long I can get by with it.” I ran
to doctors, trying to make myself feel better through pills, vitamins, natural stuff and any-
thing I could get my hands on. Some of the doctors would tell me, “It’s just stress.” That just
made me mad. [ thought stress meant you don’t like what you do or can’t handle life, and I
love what I do. But I kept pushing myself, traveling, doing speaking engagements and so
on— simply exhausting myself.




Finally, I understood I was living an unsustainable life and needed to make some changes in
my outlook and lifestyle.

You and I don’t have to be like everyone else or keep up with anyone else. Each of us needs
to be exactly the way we are, and we don’t have to apologize for it. We're not all alike and
we need to find a comfort zone in which we can enjoy our lives instead of making ourselves
sick with an overload of stress and pressure.

On the basis of your understanding of the passage, answer ANY TEN questions from
the twelve that follow. (1x10=10)

ii.

a)
b)

The reason why living on the edge has become popular, is because of the
constant need for something different.

population being much younger.

exhausting effort to make changes.

strong tendency to stay within our limits.

Choose the option that best captures the central idea of the passage from the
given quotes.

It's all about quality of ~ To go beyond is as Life is like riding a Balancq is not .
life and finding a wrong as to fall short.  bicycle. To keep your §0meth1ng you find,
happy balance between  --Confucius balance you must keep  it's something you
work and friends. moving. create.
--Philip Green --Albert Einstein -Jana Kingsford

(™ (2) (3) (4)

iii.

a)
b)
c)
d)

a) Option (1)
b) Option (2)
c) Option (3)
d) Option (4)

Which of the characteristics are apt about the writer in the following context: “I
know I have limits and that I've reached them, but I'm going to ignore them and
see if or how long [ can get by with it.” ?

1. negligent

2. indecisive

3. spontaneous
4. reckless

5. purposeless
6. patient
2and 5

3and 6

1and 4

2and 3




iv.
a)
b)

c)
d)

Vi.

a)
b)

c)
d)

vil.

viii.

a)
b)
c)
d)

ix.

Which of the following will be the most appropriate title for the passage?
Much too soon

Enough is enough

How much is too much?

Have enough to do?

The phrase “potentially harmful circumstances” refers to circumstances that can
(a) certainly be dangerous.

(b) be fairly dangerous.

(c) be possibly dangerous.

(d) seldom be dangerous.

Select the option that makes the correct use of “unsustainable”, as used in the
passage, to fill in the blank space.

In the long run, the officials followed emergency procedures.
Emergency procedures were by the officials.
Officials reported an set of events during the emergency.

Officials admit that the emergency system is in the longer run.

The author attempts to the readers through this write-up.
rebuke

question

offer aid to

offer advice to

The author uses colloquial words such as “yeah” and “Woo-hoo!”. Which of the
following is NOT a colloquial word?

hooked

guy

stuff

stress

What does the author mean when he says, “to get our lives in order”?
To resume our lives.

To organize our lives.

To rebuild our lives.

To control our lives.

Choose the option that correctly states the two meanings of ‘outlook’, as used in
the passage.

1. A person’s evaluation of life
2. A person’s experiences in life


https://www.collinsdictionary.com/dictionary/english/admit
https://www.collinsdictionary.com/dictionary/english/emergency

3. A person’s point of view towards life
4. A person’s regrets in life
5. A person’s general attitude to life

a) (1)and (4)
b) (2) and (3)
c) (3)and (5)
d) (4)and (5)

xi.  The author explains the importance of discipline and boundaries in our lives
using the example of

a) road accidents.

b) traffic rules.

c¢) lines on the highway.
d) safe driving.

xii.  What is the message conveyed in the last paragraph of the passage?

a) Love what you do.

b) Love yourself to love others.

c) Be the best version of yourself.
d) Be yourself.

2. Read the passage given below.

The UN’s 2017 International Year tells that sustainable tourism is an important tool for
development, most importantly in poor communities and countries. Today sustainability -
environmental, social, and economic - is increasingly recognised as the benchmark for all
tourism business. As noted by the UN World Tourism Organisation, 57% of international
tourist arrivals will be in emerging economies, by 2030. The various ‘“Tourism Terms’ are
defined as follows:

CATEGORY DEFINITION

Responsible travel to natural areas that conserves the environment, socially and economically
sustains the well-being of local people, and creates knowledge and understanding through inter-
pretation and education of all involved (including staff, travelers, and community residents)."

Ecotourism

Ethical Tourism Tourism in a destination where ethical issues are the key driver, e.g. social injustice, human
rights, animal welfare, or the environment.”

Geotourism Tourism that sustains or enhances the geographical character of a place — its environment,
heritage, aesthetics, culture, and well-being of its residents.”

Pro-Poor Tourism Tourism that results in increased net benefit for the poor people in a destination.”

Responsible Tourism Tourism that maximizes the benefits to local ¢ ities, mini gative social or environmental
impacts, and helps local people conserve fragile cultures and habitats species.“

Sustainable Tourism Tourism that leads to the management of all resources in such a way that economic, social, and
aesthetic needs can be fulfilled while maintaining cultural integrity, essential ecological
processes, biological diversity, and life-support svstems.g




Based on data collected by a survey by Travel Bureau, the following market profile of an
ecotourist was constructed: -

Age: 35 - 54 years old, although age varied with activity and other factors such as cost.
Gender: 50% female and 50% male, although clear differences based on activity were
found.

Education: 82% were college graduates, a shift in interest in ecotourism from those who
have high levels of education to those with less education was also found, indicating an ex-
pansion into mainstream markets.

Household composition: No major differences were found between general tourists and
experienced ecotourists**

Party composition: A majority (60%) of experienced ecotourism respondents stated they
prefer to travel as a couple, with only 15% stating they preferred to travel with their fami-
lies, and 13% preferring to travel alone. (** experienced ecotourists = Tourists that had
been on at least one “ecotourism” oriented trip.)

Trip duration: The largest group of experienced ecotourists- (50%) preferred trips lasting
8-14 days.

Expenditure: Experienced ecotourists were willing to spend more than general tourists,
the largest group (26%) .

Important elements of trip: Experienced ecotourists top three responses were: (a) wil-
derness setting, (b) wildlife viewing, (c) hiking/trekking.

Motivations for taking next trip: Experienced ecotourists top two responses were (a)
enjoy scenery/nature, (b) new experiences/places.

On the basis of your understanding of the passage attempt ANY TEN questions from
the twelve that follow. (1x10=10)

i. In the line “......recognised as the benchmark”, the word “benchmark” DOES NOT
refer to

a) abasis for something.
b) the criterion required.
c) the ability to launch something new.

d) astandard point of reference.

ii. The World Tourism Organisation of the UN, in an observation, shared that

a) emerging economies of the world will gain 57% of their annual profits from
International tourists.

b) countries with upcoming economies shall see maximum tourist footfall from all over
the world in the next decade.

c) alarge number of international tourists in 2030 will be from developing countries.



iii.

iv.

V.

d) barely any tourist in the next decade shall travel from an economically strong nation
to a weak one.

One of the elements that is important to ecotourists on trip is
a) wild and untouched surroundings.
b) cultural exchange.
c) car and bus rides.
d) fully furnished flats.

Choose the option that lists the correct answers for the following:

1. Asha Mathew, an NRI, loves animals and wishes to travel to places that safeguard
their rights and inculcate awareness of their rights. What kind of tourist is she?

2. Gurdeep Singh from UK is an environmental scientist and has always chosen to
travel to places that are examples of a symbiotic relationship between man and na-
ture. What kind of tourist is he?

a) (1) isan ecotourist and (2) is a geotourist
b) (1) is an ethical tourist and (2) is a geotourist
¢) (1) is a sustainable tourist and (2) is a pro-poor tourist

d) (1) is a geotourist and (2) is a responsible tourist

Based on your understanding of the passage, choose the option that lists the inherent
qualities of geotourism.

1.

showcases adventure sports 2. promotes landscape appreciations 3. promises luxurious travel

vi.

4. includes being 5. believes in commercializing forests
environmentally responsible

6. initiates donations for the

underprivileged

a) 1&2
b) 5&6
c) 2&4
d) 3&5
In the market profile of an ecotourist, the information on gender indicates that

a) female ecotourists were more than the male ecotourists.
b) the activity preferences were varied in females and males.
c) the choice of things to do on a trip were quite similar for both the genders.

d) male ecotourists were frequent travellers.



vil.

viii.

ix.

xi.

The education aspect in the market profile of the ecotourist revealed that

a) mainstream market trends were popular with undergraduates.

b) ecotourists were only those who had basic education.

c) mainstream markets were popular tourist destinations for educated ecotourists.

d) ecotourism was no more limited to the small group of highly educated travellers.

According to the survey conducted by the Travel Bureau, the total percentage of expe-
rienced ecotourists who DID NOT prefer to travel alone was

a) 60%.
b) 75%.
c) 15%.
d) 13%.

According to the survey, one of the most powerful driving forces leading experienced
ecotourism to invest in new trips was

a) setting up work stations in new places.
b) the chance to go camping in the wild.
c) competing with other ecotourists as frequent travellers.

d) the opportunity to travel to new places.

Choose the option that lists statement that is NOT TRUE.

a) Economically backward countries will benefit from sustainable tourism.

b) The tourism business currently recognizes sustainability as an important factor.

c) Emerging economies will receive negligible international tourists in the near
future.

d) The sustainability factor in tourism is a significant means for development.

The survey clearly showed that the age range of ecotourists:

a) remained the same for the choice of tourist- attractions to visit.
b) changed with the monetary requirements for the trip.
c) fluctuated due to male-female ratio.

d) was constant across various features of the trip.



xii.

i.

ii.

Who isn’t an experienced ecotourist?

a) The person who has travelled as an ecotourist once earlier.

b) The person who is yet to travel even once as an ecotourist.

c) The person who is a regular ecotourism enthusiast and traveller.

d) The person who is not regularly travelling on ecotourism trips.

LITERATURE (10 marks)

3. Read the extracts given below and attempt ANY ONE, by answering the questions
that follow. (5x1)

(A)

Suddenly she was startled by a voice. “Listen, child,” said the voice, “you shouldn’t
stand like that. Sit down.”

Sitting down, she looked to see who had spoken. It was an elderly man who had hon-
estly been concerned for her, but she was annoyed by his attention.

“There’s nobody here who'’s a child,” she said haughtily. “I've paid my thirty paise like
everyone else.”

The conductor chimed in. “Oh, sir, but this is a very grown-up madam. Do you think a
mere girl could pay her own fare and travel to the city all alone?”

Valli shot an angry glance at the conductor and said, “I am not a madam. Please re-
member that. And you've not yet given me my ticket.”

“T'll remember,” the conductor said, mimicking her tone. Everyone laughed, and
gradually Valli too joined in the laughter.

How did Valli feel when the elderly man expressed concern that she was standing?

a) Rather shocked

b) Somewhat happy
c) Fairly displeased
d) Quite embarrassed

Choose the option that lists the set of statements that are NOT TRUE according to the
given extract.

N wh e

Valli was travelling without a guardian.

The conductor was bullying Valli.

Valli was nervous in her interactions.

Valli was a child passenger.

Valli followed the elderly man’s advice.

Valli’s response to the elderly man was respectful.

It took Valli some time to participate in the jocular conversations.



a)2,3,4

b) 5, 6,7
c)3,57
d) 23,6
Pick the option that correctly classifies fact/s(F) and opinion/s (O) of the students
below.
(3) Let’s not
(1) I think th forget that Valli
ink the
(2) I feel that was a paying (4) Oh, come on!
conductor Valli was bein :
shouldn’t have . ) & passenger like She was just out
allowed Valli irresponsible. others. for an adventure,
to board. wasn’t she?

2

o
\-’ﬂ
a) F-12andO-34
b) F-234andO-1

c) F-24andO-1,3
d) F-3andO-1,24

s
n

iv. Which word does ‘chimed in’ NOT correspond to?

a) Intervened
b) Interrupted
c) Intersected
d) Interjected

v. Choose the characteristic displayed by the conductor when he addressed Valli and
declared that she couldn’t be ‘a mere girl’.

a) encouragement
b) indulgence
c) embarrassment
d) authority
OR

The baker or bread-seller of those days had a peculiar dress known as the kabai. It was a sin-
gle piece long frock reaching down to the knees. In our childhood we saw bakers wearing
shirt and trousers which were shorter than full-length ones and longer than half pants. Even
today, anyone who wears a half pant which reaches just below the knees invites the com-
ment that he is dressed like a pader!




(B)

i Choose the answer that lists the correct option about the recording of the baker’s
monthly accounts.

(2) (3) (4)

a) Option (1)
b) Option (2)
c) Option (3)
d) Option (4)

Question in lieu of Q 3B (i) for Visually Impaired Candidates.
The monthly accounts were:

a) written on the dress

b) remembered by the baker
c) written on the wall

d) calculated on the palm

ii. When the writer says, ‘Baking was indeed a profitable profession in the old days.’, he means
that

a) baking isn’t as popular in Goa currently.

b) bakers have chosen to adopt other professions.

c) baking, as a job, isn’t as gainful as it used to be.

d) bakers’ goods were of a better quality in earlier times.

iii. The statement that is TRUE about payment collection, according to the passage is:
a) The baker received payment on a daily basis.
b) The baker was paid for his services at the end of the month.
c) The baker insisted that customers pay before the month-end.
d) The baker chose to receive payment any day of the month.

iv. The kabai was a ‘peculiar’ outfit as it was
a) a tight-fitting apparel.
b) too colourful.
c) made of unsuitable materials.
d) a dress-like attire.



v. The extract uses the phrase, ‘invites (the) comments’. Which of the following expressions is
incorrect with respect to the word ‘invites’ ?

(1) trouble

f

(4) applications  [¢— INVITE/S "(2) prayers

(3) guests

a) Option (1)
b) Option (2)
c) Option (3)
d) Option (4)

4. Read the extracts given below and attempt ANY ONE, by answering the questions
that follow. (5x1)

(A) But he’s locked in a concrete cell,
His strength behind bars,
Stalking the length of his cage,
Ignoring visitors.

He hears the last voice at night,
The patrolling cars,
And stares with his brilliant eyes
At the brilliant stars

i. The fact that the tiger is ‘stalking the length of his cage’ tells us that he is
a) restless.
b) reckless.
c) resilient.
d) reverent.

ii. What is the rhyme scheme of the given stanzas?
a) abcb; abcb
b) abcb; abed
c) abcd; abed
d) abcd; abcb



iii. These stanzas bring out the contrast between
a) zoos and cities.
b) strength and weakness.
c) freedom and captivity.
d) visitors and patrolling cars.

iv. What is the caged tiger NOT likely to say to the visitors?
a) “Stop staring”.
b) “Set me free”.
c) “Join me".
d) “Go away”.

V. The tiger’s ‘brilliant eyes’ reveal that he
a) hopes to be free and in the wild, someday.
b) islooked after well and is nourished and healthy.
c) enjoys staring at the bright stars each night.
d) is well-rested and hence, wide-awake.

OR

(B) [ saw it go

Merrily bouncing, down the street, and then
Merrily over — there it is in the water!
No use to say ‘O there are other balls’:
An ultimate shaking grief fixes the boy

As he stands rigid, trembling, staring down

All his young days into the harbour where

His ball went

i. The poet uses the ball as a symbol of the boy’s
a) sense of adventure.
b) carefree childhood days.
c) ability to bounce back.
d) extended family.

ii.  The poet feels that there is no point consoling the boy as
a) it would give him false hope.
b) he might demand for a new ball.
c) it might distress him further.
d) whatever he has lost is irretrievable.



iii.

iv.

The word ‘harbour’ DOES NOT have a meaning similar to
a) port.
b) pier.
c) dock.
d) cargo.

‘Merrily over — there it is in the water!” The dash here is meant to convey
a) some familiar experience.
b) a feeling of excitement.
c) a sense of unexpected interruption.
d) some thoughtful moments.

The word that DOES NOT indicate a physical manifestation of sorrow in the boy, is
a) worthless.
b) shaking.
c) trembling.
d) rigid.

GRAMMAR (10 marks)

5. Choose the correct options to fill in the blanks to complete the note about
the Wangala Festival of Meghalaya. (3x1)

The Wangala -(i)- festival for the Garo in Meghalaya, Assam and Nagaland. It is a post-
harvest festival -(ii)- the end of the agricultural year. It is popularly known as ‘The
Hundred Drums’ festival. During the signature dance, the leading warrior -(iii)- with
synchronised dance steps and specific hand-head movements.

(i) a) is important
b) are an important
c) was the important
d) is an important

(ii) a) being celebrated for marking
b) celebrated to mark
c) celebrated to marking
d) being celebrated for mark

(iii) a) leads the youngsters
b) is lead the youngsters



c) was leading the youngsters
d) had leads the youngsters

6. Choose the correct options to fill in the blanks to complete Venu’s narration.
(3x1)

- — 7
“BAPANDY, WHAT 40T TONING TO WIN t.\ HOW WL STANOING

< YOU PONG, STANOING NOGE. PRZE /‘_ L IN MY DCE FELD FELP
AL HLONE W2 ‘_/ N e YOU WIN & NOREL?

-\‘,I.. —

[ saw Supanddi standing in the field. When I -(i)- doing there, he -(ii)- he was trying to
win a Nobel prize. | was confused and enquired how standing in the rice field would help
him do so. He stumped me by saying that he -(iii)- won Nobel prizes had all been out-
standing in their fields!

Text to be used for Visually Impaired Candidates.

Venu: Suppandi, what are you doing standing all alone here?

Suppandi: Uncle, I'm trying to win a Nobel prize.

Venu: How will standing in my rice field help you win a Nobel?

Suppandi: because, that’s how it’s won. I’ve heard that the people who have won Nobel prizes

were all out standing in various fields.
Venu: Oh!

(i) a) exclaimed what he was
b) told him what he was
c) asked him what he was
d) says to him about what

(ii) a) ordered that
b) refused that
c) questioned that
d) replied that

(iii) a) has heard that people who has
b) was hearing that people who were
c)had heard that people who had
d) did hear that people who had




7. Fill in the blanks by choosing the correct options for ANY FOUR of the six
sentences given below. (4x1)

(1) YOU oo consult the Thesaurus if you need groups of synonyms for those

a) had to
b) need to
c) used to
d) might

(ii) Everybody ............... keen to participate in the upcoming nukkad natak.

a) are
b) has
c) is

d) were

(iii) The good news is that............... volunteers dropped out this month than the last two.

a) fewer
b) less
c) few
d) a little

(iv) [twas ..o historic day for the organisation when ................ honour was bestowed
upon its employees.

a) a; an
b) an; the
c) the; a
d) an; a

(v) At this time tomorrow we ..........ccceeeeeeeeennnen. our project details to ma’am.

a) are presenting

b) shall be presenting
c) have been presenting
d) will have presenting



(vi) The Komodo dragon ............... follow its prey till it will eventually dies due to its
venomous bite.

a) must
b) will
c) could
d) may
Section B

WRITING (2x5= 10 marks)

8. Attempt ANY ONE of the following in 100-120 words. (5 marks)

(A) You are Tabassum/Tarun, a resident of Satya Nagar Colony, Bhubaneshwar, Orissa. You
have noticed that some residents of your colony are repeatedly flouting quarantine rules
laid out during the outbreak of the COVID-19 pandemic.

Write a letter to the SHO of the local Police Station, drawing attention towards the same.
Explain how such acts impact the health of the community and request immediate
intervention and strict action.

OR

(B) You are Vaijanthi/Vijay from Prakasham Nagar, Secunderabad, Andhra Pradesh. Write
a letter to Book Haven Store, requesting home delivery of the books, stationery and art ma-
terials you had ordered telephonically. Share the reason for being unable to pick up the
goods in person. Confirm your address details and a convenient time slot.

9. Attempt ANY ONE of the following in 100-120 words. (5 marks)

(A) The chart below displays data about the number of digital devices purchased in
Rishunagar across the years 2015-2019. Write a paragraph analyzing the given data.



Digital devices purchased across years in Rishunagar
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For Visually Impaired Candidates in lieu of Q9 A

The table below displays the responses of 85 college athlete-respondents, aged 16-24,
about sources of nutrition information. Write a paragraph analyzing the given data.

Variable Group Frequency Percentage
Male 30 45.88
gender
Female 46 54.12
1st year 9 10.59
2nd year 10 11.76
Year in College
3rd year 57 67.06
4th year 9 10.59
Coach 18 21.18
Magazine - 4.71
Yy 11 12.94
Athleti
e 15 17.65
Trainer
Source of Nutrition Info - —
OR

(B) Read the following excerpt from an article that appeared in the magazine section of a
local daily:

The ban on single-use plastic is impractical. The purpose of articles like bags and packaging is
ultimately to make human life easier. Plastic articles do this well, so they shouldn’t be banned.



Write a paragraph to analyse the given argument.
You could think about what alternative explanations might weaken the given conclusion
and include rationale / evidence that would strengthen / counter the given argument.

LITERATURE (30 marks)

10. Answer ANY TWO questions in 20-30 words each, from (A) and (B) respectively.
(2x4=8)
(A) (any two) (2x2=4)

i. How did Peggy justify her cruel behavior towards Wanda?

ii. Describe how Custard’s reaction was different from that of others, on seeing the pirate?

iii. Who, according to Nelson Mandela, is a courageous man?

(B) (any two) (2x2=4)
i. Why did Oliver Lutkin’s mother laugh as she chased him and Bill away?

ii. Why was it important for Mrs. Pumphrey to be a little cruel in order to be kind
towards Tricki?

iii. List any one characteristic of Bholi’s teacher with reference to her first day at
school. Give a reason for your answer.

11. Answer ANY TWO questions in 40-50 words each, from (A) and (B) respectively.
(3x4=12)
(A) (any two) (3x2=6)

i. Annie writes that it was fortunate that Mr. Keesing took the joke the right way. Why
does she feel so?

ii. The use of symbolism in the poem ‘Fire and Ice’ conveys the poet’s message
effectively. Expand with reference to the poem.

iii. Justify the poet’s allusion to Rapunzel in ‘Amanda’.



(B) (any two) (3x2=6)

i. Griffin’s brilliance as a man of science fades before his darker traits. Comment.

ii. Why do you think Mr. Weiherer was pleased that Richard Ebright not only put in the
nightly research hours towards butterflies, but also his other interests?

iii. What mademe Forestier exclaim in astonishment, when she saw Matilda, years after
the Minister’s ball?

12. Answer ANY ONE the following in 100-120 words. (5x1)

(A) Natalya and Ivan argued about the ownership of Oxen Meadows and the superiority of
their respective dogs in the play, The Proposal.

Imagine yourself as the playwright of the play. Based on your understanding of the
personality traits of Natalya and Ivan, write a dialogue based on an imaginary event, show-
casing another argument between them.

OR

(B) Read the extracts given below and comment on the difference in the nature of help both
the characters, of these two stories, received.

a) Suddenly I came out of the clouds and saw two straight lines of lights in front of me.
It was a runway! An airport! I was safe! I turned to look for my friend in the black
aeroplane but the sky was empty. [The Black Aeroplane]

b) All through the night Lencho thought only of his one hope: the help of God...The fol-
lowing Sunday, at daybreak he began to write a letter...It was nothing less than a let-
ter to God...The following Sunday Lencho came a bit earlier than usual to ask if there
was a letter for him.... Lencho showed not the slightest surprise on seeing the mon-
ey, such was his confidence. [A Letter to God]

13. Answer ANY ONE of the following in 100-120 words. (5x1)
(A) Hari Singh says- “He knew it but neither his lips nor his eyes showed anything.”

Anil successfully addressed the situation by not addressing it at all. Elaborate based on
your reading of The Thief’s Story.
OR
(B) Read the following quote by an American author, E. E. Hale.
“I am only one but, I am one. I cannot do everything but I can do something. And I will not let
what I cannot do interfere with what I do.”
Bholi’s evolution from a ‘dumb cow’ to a ‘masterpiece’ supports the given quote. Justify.
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Class- X
Mathematics-Basic (241)
Sample Question Paper 2020-21

Max. Marks: 80 Duration:3 hours
General Instructions:

1. This question paper contains two parts A and B.
2. Both Part A and Part B have internal choices.

Part — A:
1. It consists of two sections- | and Il
2. Section | has 16 questions. Internal choice is provided in 5 questions.
3. Section Il has four case study-based questions. Each case study has 5 case-based sub-parts.
An examinee is to attempt any 4 out of 5 sub-parts.

Part — B:
1. Question No 21 to 26 are Very short answer Type questions of 2 mark each,
2. Question No 27 to 33 are Short Answer Type questions of 3 marks each
3. Question No 34 to 36 are Long Answer Type questions of 5 marks each.
4. Internal choice is provided in 2 questions of 2 marks, 2 questions of 3 marks and 1 question of 5

marks.
Questi Part-A Marks
on No.
Section-|
1
1. Express 156 as the product of primes.
1
2. Write a quadratic polynomial, sum of whose zeroes is 2 and product is -8.
1
3. Given that HCF (96,404) is 4, find the LCM ( 96,404).
OR
State the fundamental Theorem of Arithmetic.
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On comparing the ratios of the coefficients, find out whether the pair of
equations x — 2y =0 and 3x + 4y -20 =0 is consistent or inconsistent.

If a and b are co-prime numbers, then find the HCF (a, b).

Find the area of a sector of a circle with radius 6¢cm if angle of the sector is
60°. (Take ™ = 22/7)

OR

A horse tied to a pole with 28m long rope. Find the perimeter of the field where
the horse can graze. (Take m = 22/7)

In the given fig. DE || BC, L ADE =70° and L BAC=50°, then angle
LBCA =

OR

In the given figure, AD =2cm, BD =3 cm, AE=3.5cm and AC =7 cm. Is DE
parallel to BC ?
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The cost of fencing a circular field at the rate of Rs.24 per metre is Rs. 5280.
Find the radius of the field.

A tree breaks due to storm and the broken part bends so that the top of the
tree touches the ground where it makes an angle 30° . The distance between
the foot of the tree to the point where the top touches the ground is 8m. Find
the height of the tree from where it is broken.

10

If the perimeter and the area of a circle are numerically equal, then find the
radius of the circle

11

Write the empirical relationship among mean, median and mode.

12

To divide a line segment BC internally in the ratio 3 : 5, we draw a ray BX
such that CBX is an acute angle. What will be the minimum number of points
to be located at equal distances, on ray BX?

13

For what values of p does the pair of equations 4x + p y +8 =0 and 2x +2y +2
=0 has unique solution?

OR

What type of straight lines will be represented by the system of equations 2x +
dy=5and4x+6y=7"?

14

A bag contains 3 red balls and 5 black balls. A ball is drawn at random from
the bag. What is the probability that the ball drawn is red?

OR

A die is thrown once. What is the probability of getting a prime number?

15

A tower stands vertically on the ground. From a point on the ground, which is
15m away from the foot of the tower, the angle of elevation of the top of the
tower is found to be 60°.Find the height of the tower.

16

Probability of an event E + Probability of the event E ( not E) is,
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Section-ll
Case study-based questions are compulsory. Attempt any 4 sub parts
from each question. Each question carries 1 mark

17

Mathematics teacher of a school took her 10™ standard students to show Red
fort. It was a part of their Educational trip. The teacher had interest in history
as well. She narrated the facts of Red fort to students. Then the teacher said
in this monument one can find combination of solid figures. There are 2 pillars
which are cylindrical in shape. Also 2 domes at the corners which are
hemispherical.7 smaller domes at the centre. Flag hoisting ceremony on
Independence Day takes place near these domes.

How much cloth material will be required to cover 2 big domes each of radius
2.5 metres? (Take m = 22/7)

a) 75m? b) 78.57m? c) 87.47Tm? d) 25.8m?
b)

Write the formula to find the volume of a cylindrical pillar.

a) Mreh b))l c) Mr(l +r) d) 2Mr

i)

Find the lateral surface area of two pillars if height of the pillar is 7m and
radius of the base is 1.4m.

a) 112.3cm? b) 123.2m? c) 90m? d) 345.2cm?

How much is the volume of a hemisphere if the radius of the base is 3.5m?

a) 85.9m?d b) 80 m? c) 98 m? d) 89.83 m?
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What is the ratio of sum of volumes of two hemispheres of radius 1cm each to
the volume of a sphere of radius 2 cm?
a)l:l b)1:8 ¢)8:1 d)1:16

18

Class X students of a secondary school in Krishnagar have been allotted a
rectangular plot of a land for gardening activity. Saplings of Gulmohar are
planted on the boundary at a distance of 1m from each other. There is a
triangular grassy lawn in the plot as shown in the fig. The students are to sow
seeds of flowering plants on the remaining area of the plot.

Considering A as origin, answer question (i) to (v)

Considering A as the origin, what are the coordinates of A?

a) (0,1) b) (1,0) c) (0,0) d)(-1,-1)

What are the coordinates of P?

a) (4,6) b)( 6,4) c) (4,5) d) (5,4)

i)

What are the coordinates of R?

a) (6,5 b) (5,6) c) (6,0 d) (7,4)

What are the coordinates of D?

a) (16,00 b)(0,0 ¢ (0,16)  d)(16,1)

What are the coordinate of P if D is taken as the origin?

a) (12,2) b)(-12,6) ) (12,3) d) (6,10)
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19

Rahul is studying in X Standard. He is making a kite to fly it on a Sunday. Few
guestions came to his mind while making the kite. Give answers to his
questions by looking at the figure.

i) Rahul tied the sticks at what angles to each other?
a) 30° b) 60° c) 90° d) 60°
ii) Which is the correct similarity criteria applicable for smaller triangles at the
upper part of this kite?
a) RHS b) SAS ¢)SSA d) AAS
i) Sides of two similar triangles are in the ratio 4:9. Corresponding medians of
these triangles are in the ratio,
a) 2:3 b) 4:9 c) 81:16 d) 16:81
iv) In a triangle, if square of one side is equal to the sum of the squares of the
other two sides, then the angle opposite the first side is a right angle. This
theorem is called as,
a) Pythagoras theorem b) Thales theorem
c) Converse of Thales theorem d) Converse of Pythagoras theorem
V) What is the area of the kite, formed by two perpendicular sticks of length 6 cm

and 8 cm?

a) 48 cm? b) 14 cm? c) 24 cm? d) 96 cm?
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20 Due to heavy storm an electric wire got bent as shown in the figure. It followed
a mathematical shape. Answer the following questions below.
i) Name the shape in which the wire is bent
a) Spiral b) ellipse  c) linear d) Parabola
ii) How many zeroes are there for the polynomial (shape of the wire)
a) 2 b) 3 d) 1 d) 0
iii) The zeroes of the polynomial are
a) -1,5 b) -1, 3 c)3,5 d)-4,2
iv) What will be the expression of the polynomial?
a) X>+2x-3  b)x2-2x+3 ) x?-2x-3  d) x*+2x+3
V) What is the value of the polynomial if x = -1?
a) 6 b) -18 c)) 18 d)o
Part —B
All questions are compulsory. In case of internal choices, attempt
anyone.
21 Find the coordinates of the point which divides the line segment joining the

points (4, -3) and (8,5) in the ratio 3:1 internally.
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OR

Find a relation between x and y such that the point (x,y) is equidistant from the
points (7,1) and (3,5)

22
B
M
A C
Nop
o AM AN
In the fig. if LM Il CB and LN Il CD, prove that — =—
MB ND
23 A quadrilateral ABCD is drawn to circumscribe a circle. Prove that AB + CD =
AD + BC.
D R C
S Q
A P B
24 Draw a line segment of length 7.8 cm and divide it in the ratio 5:8. Measure
the two parts.
25 Given 15 cot A =8, find sin A and sec A.

OR

12 cn I3 - <crxn

Find tan P —cot R

Page 8 of 11



26 How many terms of the A. P : 9,17,25, ....... must be taken to give a sum 6367
Part —B
All questions are compulsory. In case of internal choices, attempt
anyone.
27 Prove that V3 is an irrational number.
28 Two tangents TP and TQ are drawn to a circle with centre O from an external
point T. Prove that L PTQ = 2L OPQ.
P
Q
29 Meena went to a bank to withdraw Rs.2,000. She asked the cashier to give
her Rs.50 and Rs.100 notes only. Meena got 25 notes in all. Find how many
notes of Rs.50 and Rs.100 she received.
30 A box contains 90 discs which are numbered from 1 to 90. If one disc is drawn
at random from the box, find the probability that it bears
(i) a two-digit number
(i) a perfect square number.
(iif) a number divisible by 5.
OR
One card is drawn from a well shuffled deck of 52 cards. Find the probability of
getting
0] A king of red colour.
(i) A spade
(iii) The queen of diamonds
31 Metallic spheres of radii 6cm, 8cm and 10cm respectively are melted to form a

solid sphere. Find the radius of the resulting sphere.
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32 sin A—cosA+1 1
Prove that — =

sinA+cosA-1 secA—tanA

33 A motor boat whose speed in still water is 18 km/h, takes 1 hour more to go 24
km upstream than to return downstream to the same spot. Find the speed of
the stream.

OR
Find two consecutive odd positive integers, sum of whose squares is 290.
Part —B
All questions are compulsory. In case of internal choices, attempt
anyone.

34 The angles of depression of the top and bottom of a 8m tall building from the
top of a multi storied building are 30° and 45°, respectively. Find the height of
the multi storied building and the distance between the two buildings.

OR

A 1.2m tall girl spots a balloon moving with the wind in a horizontal line at a
height 88.2 m from the ground. The angle of elevation of the balloon from the
eyes of the girl at any instant is 60°.After sometime, the angle of elevation
reduces 30°.Find the distance travelled by the balloon during the interval.

P 588.2 m

G :
GX30mE l
Mi\_ ....... ,A'Q
1.2 m
35 The p™, g™ and r'" terms of an A.P. are a, b and c respectively.

Show thata(q—r) + b(r-p) +c(p—-q) =0
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36

A survey regarding the heights in (cm) of 51 girls of class X of a school was
conducted and the following data was obtained. Find the median height and
the mean using the formulae.

Height (in cm) Number of Girls
Less than 140 4

Less than 145 11

Less than 150 29

Less than 155 40

Less than 160 46

Less than 165 51
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Sample Question Paper 2020-21
Class X
Science (086) Theory

Time: 3 Hours Maximum Marks: 80

General Instructions:

(i)  The question paper comprises four sections A, B, C and D. There are 36 questions in
the question paper. All questions are compulsory.

(i) Section—A - question no. 1 to 20 - all questions and parts thereof are of one mark each.
These questions contain multiple choice questions (MCQs), very short answer
questions and assertion - reason type questions. Answers to these should be given in
one word or one sentence.

(iii) Section—B - question no. 21 to 26 are short answer type questions, carrying 2 marks
each. Answers to these questions should in the range of 30 to 50 words.

(iv) Section—C - question no. 27 to 33 are short answer type questions, carrying 3 marks
each. Answers to these questions should in the range of 50 to 80 words.

(v)  Section—D — question no. - 34 to 36 are long answer type questions carrying 5 marks
each. Answer to these questions should be in the range of 80 to 120 words.

(vi) There is no overall choice. However, internal choices have been provided in some
questions. A student has to attempt only one of the alternatives in such questions.

(vii) Wherever necessary, neat and properly labeled diagrams should be drawn.

SECTION A
No. Questions Marks
1 List any two observations when Ferrous Sulphate is heated in a dry test tube? 1
OR
Identify the products formed when 1 mL of dil. Hydrochloric acid is added to
1g of Sodium metal?
2 Write the chemical name and chemical formula of the salt used to remove 1
permanent hardness of water.

3 Which of the following is net observed in a homologous series? Give reason 1

for your choice.
a) Change in chemical properties
b) Difference in -CH, and 14u molecular mass
c) Gradation in physical properties
d) Same functional group
4 Why does the Sun appear white at noon? 1




Both a spherical mirror and a thin spherical lens have a focal length of (-)15
cm. What type of mirror and lens are these?

The image formed by a concave mirror is observed to be real, inverted and
larger than the object. Where is the object placed?

OR
Name the part of a lens through which a ray of light passes without suffering
any deviation.

In the arrangement shown in figure there are two coils wound on a non-
conducting cylindrical rod. Initially the key is not inserted in the circuit. Later
the key is inserted and then removed shortly after.

Coii 1 Coil !

RN

K
L1

What are the two observations that can be noted from the galvanometer
reading?

Draw the magnetic field lines around a straight current carrying conductor.

Two unequal resistances are connected in parallel. If you are not provided with
any other parameters (eg. numerical values of I and R), what can be said about
the voltage drop across the two resistors?

OR
Some work is done to move a charge Q from infinity to a point A in space. The
potential of the point A is given as V. What is the work done to move this
charge from infinity in terms of Q and V?

10

Veins are thin walled and have valves. Justify.

11

How is the wall of small intestine adapted for performing the function of
absorption of food?

OR
Out of a goat and a tiger, which one will have a longer small intestine? Justify
your answer.

12

Explain how ozone being a deadly poison can still perform an essential
function for our environment.

OR
Give reason why a food chain cannot have more than four trophic levels.




13

State the role of pancreas in digestion of food.

For question numbers 14, 15 and 16, two statements are given- one labeled Assertion (A) and the
other labeled Reason (R). Select the correct answer to these questions from the codes (a), (b), (c)
and (d) as given below:

a) Both A and R are true, and R is correct explanation of the assertion.

b) Both A and R are true, but R is not the correct explanation of the assertion.
c) A is true, but R is false.
d) A is false, but R is true.

14

Assertion: After white washing the walls, a shiny white finish on walls is
obtained after two to three days.

Reason: Calcium Oxide reacts with Carbon dioxide to form Calcium
Hydrogen Carbonate which gives shiny white finish.

15

Assertion: Food chain is responsible for the entry of harmful chemicals in our
bodies.
Reason: The length and complexity of food chains vary greatly.

OR
Assertion: Greater number of individuals are present in lower trophic levels.
Reason: The flow of energy is unidirectional.

16

Assertion: A geneticist crossed a pea plant having violet flowers with a pea
plant with white flowers, he got all violet flowers in first generation.

Reason: White colour gene is not passed on to next generation.

Answer Q. No 17 - 20 contain five sub-parts each. You are expected to answer any four sub-
parts in these questions.

17

Read the following and answer any four questions from 17 (i) to 17 (v)

All living cells require energy for various activities. This energy is available by
the breakdown of simple carbohydrates either using oxygen or without using
oxygen.

1x4

(1) Energy in the case of higher plants and animals is obtained by
a) Breathing
b) Tissue respiration
c) Organ respiration
d) Digestion of food

(i) The graph below represents the blood lactic acid concentration of an athlete
during a race of 400 m and shows a peak at point D.




Respiration in athletics
The blood of an athlete was tested before, during and after a 400m race:

12
Blood lactic 10
acid
concentration g
(mmol/litre)

6

4

2

0

0 30 60

time in seconds

Lactic acid production has occurred in the athlete while running in the 400
m race. Which of the following processes explains this event?

a) Aerobic respiration

b) Anaerobic respiration

¢) Fermentation

d) Breathing

(ii1) Study the graph below that represents the amount of energy supplied with
respect to the time while an athlete is running at full speed.

100 - plot A
75}

50

energy supplied (%)

i plot B

| | | | |

1 3 5

time running at full speed (min)

Choose the correct combination of plots and justification provided in the
following table.




Plot A Plot B Justification

a) | Aerobic Anaerobic Amount of energy is low and inconsistent
in aerobic and high in anaerobic

b) | Aerobic Anaerobic Amount of energy is high and consistent
in aerobic and low in anaerobic

¢) | Anaerobic Aerobic Amount of energy is high and consistent
in aerobic and low in anaerobic

d) | Anaerobic Aerobic Amount of energy is high and inconsistent
in anaerobic and low in aerobic

(iv) The characteristic processes observed in anaerobic respiration are
1) presence of oxygen
i1) release of carbon dioxide
iii) release of energy
iv) release of lactic acid

a) 1),ii) only

b) 1), ii), iii) only
c) 1ii), iii), iv) only
d) iv) only

(v) Study the table below and select the row that has the incorrect information.

Aerobic Anaerobic

a) Location Cytoplasm Mitochondria

b) End Product CO; and H,0 Ethanol and CO,

c) Amount of ATP | High Low

d) Oxygen Needed Not needed

Read the following and answer any four questions from 18 (i) to 18 (v).
Metallic Character

The ability of an atom to donate electrons and form positive ion (cation) is | 1x 4
known as electropositivity or metallic character. Down the group, metallic
character increases due to increase in atomic size and across the period, from




left to right electropositivity decreases due to decrease in atomic size.
Non-Metallic Character

The ability of an atom to accept electrons to form a negative ion (anion) is
called non-metallic character or electronegativity. The elements having high
electro-negativity have a higher tendency to gain electrons and form anion.
Down the group, electronegativity decreases due to increase in atomic size and
across the period, from left to right electronegativity increases due to decrease
in atomic size.

300 —

250 - Cs(262)
E__ K(231) Rb(244)
> 200 —
;g Na(186)
& 150
ot Li(152)
= 1(133)
5 100 |~ Br(114)
=z Cl1(99)

50 F(72)
| | | | | |

Atomic number (Z2)

18 (i) | Which of the following correctly represents the decreasing order of metallic
character of Alkali metals plotted in the graph?
a) Cs>Rb>Li>Na>K
b) K>Rb>Li>Na>Cs
c) Cs>Rb>K>Na>Li
d) Cs>K>Rb>Na>Li
18 (i1) | Hydrogen is placed along with Alkali metals in the modern periodic table
though it shows non-metallic character
a) as Hydrogen has one electron & readily loses electron to form negative
ion
b) as Hydrogen can easily lose one electron like alkali metals to form
positive ion
c) as Hydrogen can gain one electron easily like Halogens to form
negative ion
d) as Hydrogen shows the properties of non-metals
18 (iii) | Which of the following has highest electronegativity?

a) F
b) ClI
c) Br
d) I




18 (iv)

Identify the reason for the gradual change in electronegativity in halogens
down the group.
a) Electronegativity increases down the group due to decrease in atomic
size
b) Electronegativity decreases down the group due to decrease in
tendency to lose electrons
c) Electronegativity decreases down the group due to increase in atomic
radius/ tendency to gain electron decreases
d) Electronegativity increases down the group due to increase in forces of
attractions between nucleus & valence electrons

18 (v)

Which of the following reason correctly justifies that “Fluorine (72pm) has
smaller atomic radius than Lithium (152pm)”?
a) F and Li are in the same group. Atomic size increases down the group
b) F and Li are in the same period. Atomic size increases across the
period due to increase in number of shells
c) F and Li are in the same group. Atomic size decreases down the group
d) F and Li are in the same period and across the period atomic size/radius
decreases from left to right.

19

Read the following and answer any four questions from 19 (i) to 19 (v)

Sumati wanted to see the stars of the night sky. She knows that she needs a
telescope to see those distant stars. She finds out that the telescopes, which are
made of lenses, are called refracting telescopes and the ones which are made of
mirrors are called reflecting telescopes.

So she decided to make a refracting telescope. She bought two lenses, L; and
L,. out of which L, was bigger and L, was smaller. The larger lens gathers and
bends the light, while the smaller lens magnifies the image. Big, thick lenses
are more powerful. So to see far away, she needed a big powerful lens.
Unfortunately, she realized that a big lens is very heavy.

Heavy lenses are hard to make and difficult to hold in the right place. Also

1x 4




since the light is passing through the lens, the surface of the lens has to be
extremely smooth. Any flaws in the lens will change the image. It would be
like looking through a dirty window.

19 (i) | Based on the diagram shown, what kind of lenses would Sumati need to make
the telescope?

a) Concave lenses
b) Convex lenses
c) Bifocal lenses
d) Flat lenses

19 (i1) [ If the powers of the lenses L; and L, are in the ratio of 4:1, what would be the

ratio of the focal length of L; and L,?
a) 4:1
b) 1:4
c) 2:1
d) 1:1

19 (iii) | What is the formula for magnification obtained with a lens?

a) Ratio of height of image to height of object
b) Double the focal length.
c) Inverse of the radius of curvature.
d) Inverse of the object distance.

19 (iv) | Sumati did some preliminary experiment with the lenses and found out that the
magnification of the eyepiece (L,) is 3. If in her experiment with L, she found
an image at 24 cm from the lens, at what distance did she put the object?

a) 72 cm
b) 12 cm
c) 8cm
d) 6cm
19 (v) | Sumati bought not-so-thick lenses for the telescope and polished them. What

advantages, if any, would she have with her choice of lenses?
a) She will not have any advantage as even thicker lenses would give
clearer images.
b) Thicker lenses would have made the telescope easier to handle.
c) Not-so-thick lenses would not make the telescope very heavy and also
allow considerable amount of light to pass.
d) Not-so-thick lenses will give her more magnification.




20

Read the following and answer any 4 questions from 20 (i) to 20 (v).

A solenoid is a long helical coil of wire through which a current is run in
order to create a magnetic field. The magnetic field of the solenoid is the
superposition of the fields due to the current through each coil. It is nearly
uniform inside the solenoid and close to zero outside and is similar to the field
of a bar magnet having a north pole at one end and a south pole at the other
depending upon the direction of current flow. The magnetic field produced in
the solenoid is dependent on a few factors such as, the current in the coil,
number of turns per unit length etc.

The following graph is obtained by a researcher while doing an experiment to
see the variation of the magnetic field with respect to the current in the
solenoid.

The unit of magnetic field as given in the graph attached is in milli-Tesla (mT)
and the current is given in Ampere.
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20 (i)

What type of energy conversion is observed in a linear solenoid?
a. Mechanical to Magnetic
b. Electrical to Magnetic
c. Electrical to Mechanical
d. Magnetic to Mechanical

20 (ii)

What will happen if a soft iron bar is placed inside the solenoid?
a. The bar will be electrocuted resulting in short-circuit.
b. The bar will be magnetised as long as there is current in the circuit.
c. The bar will be magnetised permanently.
d. The bar will not be affected by any means.

20 (iii)

The magnetic field lines produced inside the solenoid are similar to that of ...
a. abar magnet




b. a straight current carrying conductor
c. acircular current carrying loop
d. electromagnet of any shape

20 (iv)

After analysing the graph a student writes the following statements.
I.  The magnetic field produced by the solenoid is inversely proportional
to the current.
II.  The magnetic field produced by the solenoid is directly proportional to
the current.
II.  The magnetic field produced by the solenoid is directly proportional to
square of the current.
IV.  The magnetic field produced by the solenoid is independent of the
current.
Choose from the following which of the following would be the correct
statement(s).
a. Only IV
b. TandIIl and IV
c. landII
d. OnlyIlI

20 (v)

From the graph deduce which of the following statements is correct.
a. For a current of 0.8A the magnetic field is 13 mT
b. For larger currents, the magnetic field increases non-linearly.
c. For a current of 0.8A the magnetic field is 1.3 mT
d. There is not enough information to find the magnetic field
corresponding to 0.8A current.

SECTION B

21

Bile juice does not have any digestive enzyme but still plays a significant role
in the process of digestion. Justify the statement.

OR
In birds and mammals the left and right side of the heart are separated. Give
reasons.

22

State the events occurring during the process of photosynthesis. Is it essential
that these steps take place one after the other immediately?

23

Give a test that can be used to confirm the presence of carbon in a compound.
With a valency of 4, how is carbon able to attain noble gas configuration in its
compounds?

OR
The number of carbon compounds is more than those formed by all other
elements put together. Justify the statement by giving two reasons.

10




24 The following observations were made by a student on treating four metals P,
Q, R and S with the given salt solutions:
Sample | MgSO4(aq) | Zn(NOs)2(aq) | CaSO4(aq) Na,S04(aq)
P No reaction Reaction Reaction No reaction
occurs occurs
Q Reaction Reaction Reaction Reaction
occurs occurs occurs occurs
R No Reaction | Reaction No Reaction No Reaction
Occurs
S No Reaction | No Reaction No Reaction No Reaction
Based on the above observations:
(a) Arrange the given samples in the increasing order of reactivity
(b) Write the chemical formulae of products formed when Q reacts with
CuSOy solution.
25

A student observes the above phenomenon in the lab as a white light passes
through a prism. Among many other colours, he observed the position of the
two colours Red and Violet.

What is the phenomenon called? What is the reason for the violet light to bend
more than the red light?

11
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12V R1=4Q R2

B O

A student has two resistors- 2 Q and 3 Q. She has to put one of them in place
of R2 as shown in the circuit. The current that she needs in the entire circuit is
exactly 9A. Show by calculation which of the two resistors she should choose.

Section C

27

After self-pollination in pea plants with round, yellow seeds, following types
of seeds were obtained by Mendel:

Seeds Number

Round, yellow 630

Round, green 216

Wrinkled, yellow 202

Wrinkled, green 64

Analyse the result and describe the mechanism of inheritance which explains
these results.

OR
In humans, there is a 50% probability of the birth of a boy and 50 %
probability that a girl will be born. Justify the statement on the basis of the
mechanism of sex-determination in human beings.

28

Plastic cups were used to serve tea in trains in early days- these could be
returned to the vendors, cleaned and reused. Later,Kulhads were used instead
of plastic cups. Now, paper cups are used for serving tea.

What are the reasons for the shift from Plastic to Kulhads and then finally to
paper cups?

29

Explain where and how urine is produced?

12




30 a. Which of the following reactions is/ are an endothermic reaction(s) where
decomposition also happens?
* Respiration
* Heating of lead nitrate
*  Decomposition of organic matter
* Electrolysis of acidified water
b. Silver chloride when kept in the open turns grey. Illustrate this with a
balanced chemical equation.
31 The following table shows the position of five elements A, B, C, D and E in
the modern periodic table.
Group— |1 |2 [3tol12|13 (14 |15 |16 |17 |18
Period |
2 A B |C
3 D E
Answer the following giving reasons:
(1) Which element is a metal with valency two?
(i1) Which element is least reactive?
(ii1) Out of D and E which element has a smaller atomic radius?
32 a. Explain the formation of Calcium Chloride with the help of electron dot
structure. (At numbers: Ca = 20; Cl = 17)
b. Why do ionic compounds not conduct electricity in solid state but conduct
electricity in molten and aqueous state?
33 Refractive index of water with respect to air is 1.33 and that of diamond is
2.42.
(1) In which medium does the light move faster, water or diamond?
(i) What is the refractive index of diamond with respect to water?
Section D
34 | Match the following pH values 1, 7, 10, 13 to the solutions given below:

* Milk of magnesia
* Gastric juices
* Brine
* Aqueous Sodium hydroxide.
Amit and Rita decided to bake a cake and added baking soda to the cake batter.

13




Explain with a balanced reaction, the role of the baking soda. Mention any
other use of baking soda.

OR

(i) Four samples A, B, C and D change the colour of pH paper or solution to
Green, Reddish-pink, Blue and Orange. Their pH was recorded as 7, 2, 10.5 &
6 respectively. Which of the samples has the highest amount of Hydrogen ion
concentration? Arrange the four samples in the decreasing order of their pH.

(i) Rahul found that the Plaster of Paris, which he stored in a container, has
become very hard and lost its binding nature. What is the reason for this? Al-
so, write a chemical equation to represent the reaction taking place.

(ii1) Give any one use of Plaster of Paris other than for plastering or
smoothening of walls.

35 Trace the changes that take place in a flower from gamete formation to fruit
formation.
36 In the given circuit, A, B, C and D are four lamps connected with a battery of

60V.

= 60V N N N\ N\

3A 5A

W ® © @

4A 3A

Analyse the circuit to answer the following questions.

(1) What kind of combination are the lamps arranged in (series or parallel)?

(i1) Explain with reference to your above answer, what are the advantages (any
two) of this combination of lamps?

(ii1) Explain with proper calculations which lamp glows the brightest?

(iv) Find out the total resistance of the circuit.

OR
PQ is a current carrying conductor in the plane of the paper as shown in the
figure below.

14




(1) Find the directions of the magnetic fields produced by it at points R and S?

(i1) Given r;> 1y, where will the strength of the magnetic field be larger? Give
reasons.

(ii1) If the polarity of the battery connected to the wire is reversed, how would
the direction of the magnetic field be changed?

(iv) Explain the rule that is used to find the direction of the magnetic field for a
straight current carrying conductor.

15




SAMPLE QUESTION PAPER
SOCIAL SCIENCE (CODE 087)
CLASS X - SESSION 2020-21

Time Allowed: 3 Hours Maximum Marks: 80

General Instructions :
i. Question paper comprises five Sections — A, B, C, D and E. There are 32 questions in the question
paper. All questions are compulsory.
ii. Section A - Question no. 1 to 16 are Objective Type Questions of 1 mark each.
iii. Section B - Question no. 17 to 22 are short answer type questions, carrying 3 marks each. Answer
to each question should not exceed 80 words.
iv. Section C - Question no. 23 to 26 are source based questions, carrying 4 marks each.
v. Section D - Question no. 27 to 31 are long answer type questions, carrying 5 marks each. Answer
to each question should not exceed 120 words.
vi. Section E - Question no. 32 is map based, carrying 5 marks with two parts, 32.1 from History (2
marks) and 32.2 from Geography (3 marks).
vii. There is no overall choice in the question paper. However, an internal choice has been provided
in few questions. Only one of the choices in such questions have to be attempted.
viii. In addition to this, separate instructions are given with each section and question, wherever
necessary.

SECTION A

1X16=16
Identify the correct statement with regard to ‘The Act of Union -1707’ from the following options.

The British monarchy surrendered the power to English Parliament.

The British parliament seized power from Ireland.

The formation of the ‘United Kingdom of Great Britain’.

The British nation was formed as a result of a war with Scotland and Wales.

OO0 W

Which of the following treaty recognized Greece as an independent nation?

Treaty of Sevres

Treaty of Versailles
Treaty of Lausanne
Treaty of Constantinople

0w

Which of the following was the reason for calling off ‘the Non-cooperation Movement’ by Gandhiji?

A. Pressure from the British Government
B. Second Round Table Conference
C. Gandhiji’s arrest
D. Chauri-Chauraincident
Fill in the blank:
Business Processes Outsourcing (BPO) is an example of industry in India.
OR
Green Revolution has helped------------------------- industry to expand in different parts of India.

Choose the correctly matched pair about the Primitive Cultivation in India from the following
options:

A. Dahiya - Madhya Pradesh
B. Kumari-Jharkhand
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11

12

C. Khil -Andhra Pradesh
D. Koman- Karnataka

Fill in the blank-
Barley: Rabi crop, cotton: kharif, : zaid crop.
A. Wheat
B. Mustard
C. Soyabean
D. Cucumber

Identify the soil with the help of the following features.

+ Red to brown in colour
+ Sandy in texture and saline in nature
4+ Lacks humus and moisture

A type of millet rich in iron, calcium, other micro nutrients and roughage is
A. Bajra

B. Rajma
C. Jowar
D. Ragi

Population of Sri Lankan Tamils is concentrated in

A. North and South
B. North and East
C. Eastand West
D. South and East

Define Majoritarianism.

OR

Define Ethnicity.

Which administrative authority legislates on Residuary subjects?

OR
Which administrative authority legislates on Union list?

region of Sri Lanka.

Read the given data and find out which country has most equitable distribution of income.

Countries Monthly Income of Citizens in four countries in 2018
Citizen I Citizen II Citizen III Citizen [V Citizen V Average

Country A | 10500 11200 10800 11000 10700 10,840
Country B | 600 5000 600 600 600 1,480
Country C | 550 10500 400 7500 2000 4,190
CountryD | 800 4800 700 5000 750 2,410

a. Country A

b. Country B

c. Country C

d. CountryD




13 Read the information given below and select the correct option -

Mohan is an agricultural labourer. There are several months in a year when he has no work and
needs credit to meet his daily expenses. He depends upon his employer, the landowner for credit
who charges an interest rate of 5 per cent per month. Mohan repays the money by working

physically for the landowner on his farmland.

Over the years his debt will -
A. Increase - because of increasing interest and non-payment of monthly amount
Remain constant - as he is working for the employer but is repaying less

B
C. Reduce - as amount equivalent to his salary is being counted as monthly repayment
D

Be totally repaid - as he is repaying the debt in the form of physical labour

OR

Most of the agricultural labourers like Mohan depend upon loans from informal sector. Which of

the following statements about this sector is correct -

A. There are govt. bodies to supervise informal sector
B. Money lenders ask for a reasonable rate of interest
C. Costof informal loans to the borrower is quite high
D. Money lenders use fair means to get their money back

14 Which one of the following options describe ‘Collateral’?
A. Double coincidence of wants
B. Certain products for barter
C. Trade in barter
D. Asset as guarantee for loan
15 Read the given statements in context of ‘globalization’ and choose the correct option -
A. Itis the only way for economic development of the country
B. Interlinks only production based activities in dispersed locations in the world
C. Ithas always given only positive results in all the countries
D. Leads to spread of technology, cultures and diseases from a region to another

16 In the question given below, there are two statements marked as Assertion (A) and Reason ®. Read

the statements and chose the correct option:

Assertion (A): Different people have different development goals.
Reason ®: People want freedom, equality, security and respect

Options:
a. Both A and R are true and R is the correct explanation of A.
b. Both A and R are true but R is not the correct explanation of A.
c. Aistrue butRis false.
d. Aisfalse butRis true.

SECTION B

17 Why did Gandhiji start Non-Cooperation Movement? Explain.

(3X6=18)
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Explain the measures and practices introduced by the French revolutionaries to create a sense of
collective identity amongst the French people.

OR
“Like Germany, Italy too had a long history of political fragmentation”. Explain.

Suggest and explain any three ways to protect land from degradation in various states of India.

Describe any three steps taken by the government towards decentralization in the year 1992.
OR
Describe any three federal features of Indian democracy.

Imagine yourself to be XYZ, a member of a women Self- Help Group. Analyse the ways through
which your group provides loan to the members.

‘The issue of sustainability is important for development.’ Examine the statement.

SECTION C
(4x4=16)
Read the source given below and answer the questions that follows:

Following the defeat of Napoleon in 1815, European governments were driven by a spirit of
conservatism. Conservatives believed that established, traditional institutions of state and society
- like the monarchy, the Church, social hierarchies, property and the family -should be preserved.
Most conservatives, however, did not propose a return to the society of pre-revolutionary days.
Rather, they realised, from the changes initiated by Napoleon, that modernisation could in fact
strengthen traditional institutions like the monarchy. It could make state power more effective and
stronger. A modern army, an efficient bureaucracy, a dynamic economy, the abolition of feudalism
and serfdom could strengthen the autocratic monarchies of Europe. In 1815, representatives of the
European powers who had collectively defeated Napoleon, met at Vienna to draw up a settlement
for Europe. The Congress was hosted by the Austrian Chancellor Duke Metternich. The delegates
drew up the Treaty of Vienna of 1815 with the object of undoing most of the changes that had come
about in Europe during the Napoleonic wars. The Bourbon dynasty, which had been deposed
during the French Revolution, was restored to power, and France lost the territories it had annexed
under Napoleon. A series of states were set up on the boundaries of France to prevent French
expansion in future.

Answer the following MCQs by choosing the most appropriate option

23.1 Which of the following statements correctly describes about European conservative
ideology?

(1)
Preservation of believes introduced by Napoleon
Preservation of two sects of Christianity
Preservation of socialist ideology in economic sphere
Preservation of traditionalist beliefs in state and society

0w

23.2 Identify the purpose to convene the Vienna of Congress in 1815 from the following options?
1)

To declare competition of German unification

To restore conservative regime in Europe

To declare war against France

To start the process of Italian Unification

OO wx

23.3. What did conservatives focus on at the Congress of Vienna? Select the appropriate option.(1)



24

To re-establish peace and stability in Europe
To establish socialism in Europe

To introduce democracy in France

To set up a new Parliament in Austria

o0 we

23.4 How did the Congress of Vienna ensure peace in Europe? Select the appropriate option. (1)
A. With the restoration of Bourbon Dynasty
Austria was not given the control of Northern Italy
C. Laying out a balance of power between all the great powers in Europe
D. By giving power to the German confederation

Read the text given below and answer the following questions.

Manufacturing industries not only help in modernising agriculture, which forms the backbone of
our economy, they also reduce the heavy dependence of people on agricultural income by
providing them jobs in secondary and tertiary sectors. Industrial development is a precondition
for eradication of unemployment and poverty from our country. This was the main philosophy
behind public sector industries and joint sector ventures in India. It was also aimed at bringing
down regional disparities by establishing industries in tribal and backward areas. Export of
manufactured goods expands trade and commerce, and brings in much needed foreign exchange.
Countries that transform their raw materials into a wide variety of finished goods of higher value
are prosperous. India’s prosperity lies in increasing and diversifying its manufacturing industries
as quickly as possible. Agriculture and industry are not exclusive of each other. They move hand in
hand. For instance, the agro-industries in India have given a major boost to agriculture by raising
its productivity.

Answer the following MCQs by choosing the most appropriate option

24.1. Manufacturing industries fall in and agriculture in . (D
A. Primary, Secondary Sector
B. Secondary, Tertiary Sector
C. Primary, Tertiary Sector
D. Secondary, Primary Sector

24.2. Manufacturing provides job opportunities to reduce dependence on agriculture. Identify

which sector the following jobs belong to - (D
Jobs created or promoted by manufacturing Sector
industries
a. Garment production 1.Primary
b. Research & Development 2.Tertiary
c. Banking 3.Secondary
d. Mining 4.Quaternary

Choose the correct option -

A. a-1,b-2,c-3,d-4
B. a-3,b-4,c-2,d-1
C. a-2,b-3,c-1,d-2
D. a-4,b-1,c-4,d-3
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24.3. Which of the following options does not help in modernising agriculture? (1)

Manufacturing farm equipment

Providing unskilled labour force
Supplying fertilizers and pesticides
Producing tube well pumps and sprinklers

o0 wr

24.4. In order to attract foreign manufacturing firms, a country needs to develop - (1)

Agrarian facilities
Cultivable lands

Media facilities
Infrastructure facilities

o0 wr

Read the given extract and answer the following questions.

In a democracy, we are most concerned with ensuring that people will have the right to choose
their rulers and people will have control over the rulers. Whenever possible and necessary, citizens
should be able to participate in decision making, that affects them all. Therefore, the most basic
outcome of democracy should be that it produces a government that is accountable to the citizens,
and responsive to the needs and expectations of the citizens. Some people think that democracy
produces less effective government. It is, of course, true that non-democratic rulers are very quick
and efficient in decision making and implementation, whereas, democracy is based on the idea of
deliberation and negotiation. So, some delay is bound to take place. But, because it has followed
procedures, its decisions may be both more acceptable to the people and more effective. Moreover,
when citizens want to know if a decision was taken through the correct procedures, they can find
this out. They have the right and the means to examine the process of decision making. This is
known as transparency. This factor is often missing from a non-democratic government. There is
another aspect in which democratic government is certainly better than its alternatives:
democratic government is legitimate government. It may be slow, less efficient, not always very
responsive, or clean. But a democratic government is people’s own government.

Answer the following MCQs by choosing the most appropriate option
25.1. People’s right to choose their own rulers is called as the - ()
A. Right to Initiate
B. Right to Plebiscite
C. Rightto Vote
D. Right to Referendum

25.2. Which of the following options helps in promoting transparency in the governance? (1)

A. Right to education
B. Right to information
C. Right against exploitation
D. Right to speech and expression
25.3. make/s the government legitimate. (1)
A. Credibility of politicians
B. People’s movements
C. Free and fair elections
D. Holding of powers
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25.4. Decisions in a democracy are more acceptable to the people because they are - (1)

Taken swiftly and implemented quickly
Taken by giving privileges to the people
Taken through elites’ votes

Taken after following due processes

o0 wr

Read the source given below and answer the following questions -

Ford Motors, an American company, is one of the world’s largest automobile manufacturers with
production spread over 26 countries of the world. Ford Motors came to India in 1995 and spent
Rs. 1700 crore to set up a large plant near Chennai. This was done in collaboration with Mahindra
and Mahindra, a major Indian manufacturer of jeeps and trucks. By the year 2004, Ford Motors
was selling 27,000 cars in the Indian markets, while 24,000 cars were exported from India to South
Africa, Mexico and Brazil. The company wanted to develop Ford India as a component supplying
base for its other plants across the globe.

Answer the following MCQs by choosing the most appropriate option

26.1. The passage given above relates to which of the following options? (D
A. Increased employment
B. Foreign investment
C. Foreign collaboration
D. International competition

26.2. According to the given passage, Ford Motors can be termed as a Multi-National Company

based on which of the following options? (D
A. Production of different types of automobiles
B. Largest automobile manufacturer in the world
C. Because of largescale exports of cars across globe
D. Industrial and commercial ventures across globe
26.3. By setting up their production plants in India, Ford Motors wanted to - (1)
A. Collaborate with a leading Indian Automobile company
B. Satisfy the demands of American, African and Indian markets
C. Tap the benefits of low-cost production and a large market
D. Take over small automobile manufacturing units in India

26.4. 'Ford Motors' wish to develop Ford India as a component supplying base for its other

plants across the globe is an evidence of - (1)
A. Promoting local industries of India
B. Merging trade from different countries
C. Supplying jobs to factory workers in India
D. Interlinking of production across countries

SECTION D
(5x5=25)
How did people belonging to different communities, regions or language groups develop a sense
of collective belonging in the nineteenth century India? Explain.

5
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32.1

32.2

OR

Explain the meaning and notion of ‘Swaraj’ as perceived by the plantation workers. How did they
respond to the call of ‘the Non - Cooperation movement’?

Describe the role of mass communication in India.
OR
Describe the benefits of Roadways.

Suggest and explain any five ways to reform Political Parties in India.
‘Power sharing is the essence of a democratic government.” Examine the statement.

‘Tertiary sector is playing a significant role in the development of Indian Economy’. Justify the
statement.
OR
‘Public sector contributes to the economic development of India.’ Justify the statement.
SECTION-E
MAP SKILL BASED QUESTION

(2+3=5)
Two places A and B have been marked on the given outline map of India.
Identify them and write their correct names on the lines drawn near them

A. Indian National Congress session at this place in 1927
B. Mahatma Gandhi organized a Satyagraha Movement at this place for indigo planters

On the same outline map of India locate and label any THREE of the following with suitable
Symbols.
a. Rana Pratap Sagar Dam
Namrup Thermal Plant
Bengaluru Software Technology Park
Vishakhapatnam Port
Naraura Nuclear Power Plant

a0y

Note : The following questions are for Visually Impaired Candidates only in lieu of Q. No.32.
Attempt any FIVE questions.

32.1 Name the State where the session of Indian National Congress was held in 1920. 1
32.2 Name the State where the movement of Indigo planters was started. 1
32.3 Name the State where the Jallianwala Bagh massacre occurred. 1
32.4 Name the State where Sardar Sarovar Dam is located. 1
32.5 Name the State where Bhilai Iron and Steel plant is located. 1
32.6 Name the State where Pune Software Technology Park is located. 1

32.7 Name the State where Kochi ‘Sea Port’ is located. 1

vi il W+ N

92

%)}






	a) a basis for something.
	b) the criterion required.
	c) the ability to launch something new.
	d) a standard point of reference.
	ii. The World Tourism Organisation of the UN, in an observation, shared that
	a) emerging economies of the world will gain 57% of their annual profits from                        International tourists.
	b) countries with upcoming economies shall see maximum tourist footfall from all over the world in the next decade.
	c) a large number of international tourists in 2030 will be from developing countries.
	d) barely any tourist in the next decade shall travel from an economically strong nation to a weak one.
	iii. One of the elements that is important to ecotourists on trip is
	a) wild and untouched surroundings.
	b) cultural exchange.
	c) car and bus rides.
	d) fully furnished flats.
	iv. Choose the option that lists the correct answers for the following:
	1. Asha Mathew, an NRI, loves animals and wishes to travel to places that safeguard their rights and inculcate awareness of their rights. What kind of tourist is she?
	2. Gurdeep Singh from UK is an environmental scientist and has always chosen to travel to places that are examples of a symbiotic relationship between man and nature. What kind of tourist is he?
	a) (1) is an ecotourist and (2) is a geotourist
	b) (1) is an ethical tourist and (2) is a geotourist
	c) (1) is a sustainable tourist and (2) is a pro-poor tourist
	d) (1) is a geotourist and (2) is a responsible tourist
	v. Based on your understanding of the passage, choose the option that lists the inherent qualities of geotourism.
	a) 1 &2
	b) 5&6
	c) 2&4
	d) 3&5
	vi. In the market profile of an ecotourist, the information on gender indicates that
	a) female ecotourists were more than the male ecotourists.
	b) the activity preferences were varied in females and males.
	c) the choice of things to do on a trip were quite similar for both the genders.
	d) male ecotourists were frequent travellers.
	vii. The education aspect in the market profile of the ecotourist revealed that
	a) mainstream market trends were popular with undergraduates.
	b) ecotourists were only those who had basic education.
	c) mainstream markets were popular tourist destinations for educated ecotourists.
	d) ecotourism was no more limited to the small group of highly educated travellers.
	viii. According to the survey conducted by the Travel Bureau, the total percentage of experienced ecotourists who DID NOT prefer to travel alone was
	a) 60%.
	b) 75%.
	c) 15%.
	d) 13%.
	ix. According to the survey, one of the most powerful driving forces leading experienced ecotourism to invest in new trips was
	a) setting up work stations in new places.
	b) the chance to go camping in the wild.
	c) competing with other ecotourists as frequent travellers.
	d) the opportunity to travel to new places.
	x. Choose the option that lists statement that is NOT TRUE.
	a) Economically backward countries will benefit from sustainable tourism.
	b) The tourism business currently recognizes sustainability as an important factor.
	c) Emerging economies will receive negligible international tourists in the near  future.
	d) The sustainability factor in tourism is a significant means for development.
	xi. The survey clearly showed that the age range of ecotourists:
	a) remained the same for the choice of tourist- attractions to visit.
	b) changed with the monetary requirements for the trip.
	c) fluctuated due to male-female ratio.
	d) was constant across various features of the trip.
	xii. Who isn’t an experienced ecotourist?
	a) The person who has travelled as an ecotourist once earlier.
	b) The person who is yet to travel even once as an ecotourist.
	c) The person who is a regular ecotourism enthusiast and traveller.
	d) The person who is not regularly travelling on ecotourism trips.
	GRAMMAR                                                                                                                       (10 marks)
	5. Choose the correct options to fill in the blanks to complete the note about the Wangala Festival of Meghalaya.                                                                (3x1)
	6. Choose the correct options to fill in the blanks to complete Venu’s narration. (3x1)
	7.  Fill in the blanks by choosing the correct options for ANY FOUR of the six     sentences given below.                                                                                          (4x1)


